




1 2

2

1

-

     

       

       

        

R=15 
3
.        

       

       

                    

         

06.22

06.22

-2

.

110/35/10 " "



3

2 76,0

1

3,5

1300

1

1

1

1

1

1

1

1

1 1

5200

4800100

2600

24001
0
0

6
0
0

3
0
0
0

6
0
0

6
0
0

6
0
0

6
0
0

1

1

1

1

1

7600100

1
0
0

3
0
0
0

2

10600

1

1

1

1

1

2

6
8
0
0

26005200 2800

10600

7
6
0
0

2 2-
06.22

06.22

.

110/35/10 " "

2

55

1,8

1,7

1

1

1

1

1

2800

3400

1

1

1

100

1

1

4
0
0

4
0
0

2
8
0
0

2
0
0
0

2
8
0
0

1

1

1

1

1

2400100

1
0
0

3
0
0
0

2

1

1

1

100

1

1

2800 2400

2800 2000 2800

1.

2.

3.

4.


